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MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

Find another representation, (r, θ), for the point under the given conditions.

1) 3, 
π

3
, r > 0 and -2π < θ < 0

A) 3, 
7

3
π B) 3, - 

2

3
π C) 3, - 

5

3
π D) 3, 

4

3
π

Select the representation that does not change the location of the given point.

2) (-7, 6π)

A) (-7, 5π) B) (7, 4π) C) (-7, 7π) D) (7, 5π)

Polar coordinates of a point are given. Find the rectangular coordinates of the point.

3) (-3, 120°)

A)
3

2
, 
-3 3

2
B) - 

3

2
, 
-3 3

2
C) - 

3

2
, 
3 3

2
D)

3

2
, 
3 3

2

The rectangular coordinates of a point are given. Find polar coordinates of the point. Express  θ in radians.

4) (4, -4 3)

A) 4, 
11π

6
B) 4, 

5π

3
C) 8, 

11π

6
D) 8, 

5π

3

Convert the rectangular equation to a polar equation that expresses r in terms of  θ.

5) 8x - 3y + 10 = 0

A) 8 cos θ - 3 sin θ = 10 B) 8 cos θ - 3 sin θ = -10

C) r = 
-10

(8 cos θ - 3 sin θ)
D) r = 

-10

(8 sin θ - 3 cos θ)

6) (x - 16)2 + y2 = 256

A) r2 = 32 cos θ B) r = 32 cos θ C) r = -32 sin θ + 256 D) r = 32 sin θ

Graph the polar equation.

7) r = 1 + sin θ

r-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

6

5

4

3

2

1

-1

-2

-3

-4

-5

-6

r-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

6

5

4

3

2

1

-1

-2

-3

-4

-5

-6

1



A)

r-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

6

5

4

3

2

1

-1

-2

-3

-4

-5

-6

r-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

6

5

4

3

2

1

-1

-2

-3

-4

-5

-6

B)

r-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

6

5

4

3

2

1

-1

-2

-3

-4

-5

-6

r-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

6

5

4

3

2

1

-1

-2

-3

-4

-5

-6

C)

r-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

6

5

4

3

2

1

-1

-2

-3

-4

-5

-6

r-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

6

5

4

3

2

1

-1

-2

-3

-4

-5

-6

D)

r-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

6

5

4

3

2

1

-1

-2

-3

-4

-5

-6

r-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

6

5

4

3

2

1

-1

-2

-3

-4

-5

-6

Convert the polar equation to a rectangular equation.

8) r = -3 cos θ

A) x = -3 B) x - 
3

2

2
 + y2 = 9 C) x + 

3

2

2
 + y2 = 

9

4
D) x2 + y2 = 3

9) r = 4 csc θ

A) y = 4 B) x2 + y2 = 4 C) y2 = 4 D) x = 4

Test the equation for symmetry with respect to the given axis, line, or pole.

10) r = 2 sin θ; the pole

A) has symmetry about the pole B) may or may not have symmetry about the pole

11) r = 3 + 3 cos θ; polar axis

A) has symmetry with respect to the polar axis

B) may or may not have symmetry with respect to the polar axis

Write the complex number in polar form. Express the argument in degrees.

12) 4i

A) 4(cos 270° + i sin 270°) B) 4(cos 180° + i sin 180°)

C) 4(cos 90° + i sin 90°) D) 4(cos 0° + i sin 0°)

2



Write the complex number in polar form. Express the argument in radians.

13) - 5 3 - 5i

A) 10 cos 
7π

6
 + i sin 

7π

6
B) 10 cos 

4π

3
 + i sin 

4π

3

C) 5 3 cos 
13π

6
 + i sin 

13π

6
D) 5 3 cos 

4π

3
 + i sin 

4π

3

Solve the equation in the complex number system.

14) x5 - 1 = 0

A) 1, cos(36°) + i sin(36°), cos(108°) + i sin(108°), cos(180°)+ i sin(180°), cos(252°) + i sin(252°)

B) -1, cos(72°)+ i sin(72°), cos(144°) + i sin(144°), cos(216°) + i sin(216°), cos(288°) + i sin(288°)

C) 1, cos(72°)+ i sin(72°), cos(144°) + i sin(144°), cos(216°) + i sin(216°), cos(288°) + i sin(288°)

D) 1, cos(72°) + i sin(72°), cos(144°) + i sin(144°), cos(216°) + i sin(216°),-1

Find all the complex roots. Write the answer in the indicated form.

15) The complex square roots of 25(cos 210° + i sin 210°)  (polar form)

A) 5(cos 210° + i sin 210°), 5(cos 195° + i sin 195°) B) 5(cos 210° + i sin 210°), -5(cos 195° + i sin 195°)

C) 5(cos 105° + i sin 105°), 195(cos 285° + i sin 285°) D) 5(cos 105° + i sin 105°), 5(cos 285° + i sin 285°)

16) The complex cube roots of 8 (rectangular form)

A) 2, -1 +  3i, -1 -  3i B) 2, -1 -  3i, 1 -  3i

C) 2, 1 +  3i, -1 -  3i D) 2, 1 +  3i, 1 -  3i

Use DeMoivreʹs Theorem to find the indicated power of the complex number. Write the answer in rectangular form.

17) (cos 30° + i sin 30°)12

A) -i B) 1 C) -1 D) i

18) (1 - i)10

A) -32i B) -32 + 32i C) 32 D) 32 - 32i

Find the quotient 
z1

z2
 of the complex numbers. Leave answer in polar form.

19) z1 = 
1

8
cos 

2π

3
 + i sin 

2π

3

z2 = 
1

3
cos 

π

4
 + i sin 

π

4

A)
8

3
cos - 

5π

12
 + i sin - 

5π

12
B)

3

8
cos 

5π

12
 + i sin 

5π

12

C)
3

8
cos 

8

3
 + i sin 

8

3
D)

1

24
cos 

11π

12
 + i sin 

11π

12

Find the product of the complex numbers. Leave answer in polar form.

20) z1 = 5(cos 20° + i sin 20°)

z2 = 4(cos 10° + i sin 10°)

A) 9(cos 30° + i sin 30°) B) 9(-cos 200° - i sin 200°)

C) 20(cos 200° + i sin 200°) D) 20(cos 30° + i sin 30°)

3



Parametric equations and a value for the parameter t are given. Find the coordinates of the point on the plane curve

described by the parametric equations corresponding to the given value of t.

21) x = t3 + 1, y = 9 - t4;  t = 2

A) (9, -7) B) (17, -15) C) (9, 25) D) (17, 1)

Eliminate the parameter t. Find a rectangular equation for the plane curve defined by the parametric equations.

22) x = 3 tan t, y = 5 sec t;  0 ≤ t ≤ 2π

A)
y2

25
 + 

x2

9
 = 1;  -∞ < x < ∞ B) y = x2 - 9;  -3 ≤ x ≤ 3

C)
y2

25
 - 

x2

9
 = 1;  -∞ < x < ∞ D) y = 5 1 + 

x2

9
;  -∞ < x < ∞

23) x =  t, y = 3t + 4;  0 ≤ t ≤ 4

A) y = -4x2 + 18;  0 ≤ x ≤ 2 B) y = 4x2 + 3;  -1 ≤ x ≤ 2

C) y = -4x + 18;  0 ≤ x ≤ 2 D) y = 3x2 + 4;  0 ≤ x ≤ 2

24) x = 2 + sec t, y = 5 + 2 tan t;  0 < t < 
π

2

A) (y - 2)2 - 
(x - 5)2

4
 = 1;  -∞ < x < ∞ B) (x - 2)2 + 

( y - 5)2

4
 = 1;  1 ≤ x ≤ 3

C) (x - 2)2 - 
(y - 5)2

4
 = 1;  x > 3 D) (x - 2)2 - (y - 5)2 = 4;  -∞ < x < ∞

Find a set of parametric equations for the conic section or the line.

25) Circle: Center: (2, 3); Radius: 2

A) x = 2 + 2 cos t;  y = 3 + 2 sin t B) x = t - 2;  (y - 3)2 + t2 = 4

C) x = 2 + sin t;  y = 3 + cos t D) x = 3 + 2 sin t;  y = 2 + 2 cos t

26) Ellipse: Center: (-4, -5); Vertices: 5 units above and below the center; Endpoints of Minor Axis: 2 units left and

right of the center.

A) x = -4 - 2 cos t, y = -5 - 5 sin t B) x = 2 - 4 cos t, y = 5 - 5 sin t

C) x = -4 + 2 cos t, y = -5 + 5 sin t D) x = -4 + 5 cos t, y = -5 + 2 sin t

27) The line segment starting at (5, 4) with t = 0 and ending at (-7, -12) with t = 4

A) x = -4t + 4, y = -3t + 5, for 0 ≤ t ≤ 4 B) x = -3t + 5, y = -4t + 4, for 0 ≤ t ≤ 4

C) x = 4t - 4, y = 5t - 3, for 0 ≤ t ≤ 4 D) x = 5t - 3, y = 4t - 4, for 0 ≤ t ≤ 4

Find a set of parametric equations for the rectangular equation.

28) y = x4 + 5

A) x = t2;  y = t2 + 5 B) x = t;  y = t4 + 5 C) x = t2;  y = t4 + 5 D) x = t;  y = t2 + 5

Find two sets of parametric equations for the given rectangular equation.

29) y = x2 - 2

A) x = -t, y = t2 + 2;  x =  t, y = t - 2 B) x = t, y = t2 - 2;  x =  t, y = t + 2, t ≥ 0

C) x = -t, y = t2 - 2;  x =  t, y = -t + 2, t ≥ 0 D) x = t, y = t2 - 2;  x =  t, y = t - 2, t ≥ 0

4



Use point plotting to graph the plane curve described by the given parametric equations.

30) x = 2t - 1, y = t2 + 5;  -4 ≤ t ≤ 4

x-10 -8 -6 -4 -2 2 4 6 8 10

y

10

8

6

4

2

-2

-4

-6

-8

-10

x-10 -8 -6 -4 -2 2 4 6 8 10

y

10

8

6

4

2

-2

-4

-6

-8

-10

A)

x-10 -8 -6 -4 -2 2 4 6 8 10

y

10

8

6

4

2

-2

-4

-6

-8

-10

x-10 -8 -6 -4 -2 2 4 6 8 10

y

10

8

6

4

2

-2

-4

-6

-8

-10

B)

x-10 -8 -6 -4 -2 2 4 6 8 10

y

10

8

6

4

2

-2

-4

-6

-8

-10

x-10 -8 -6 -4 -2 2 4 6 8 10

y

10

8

6

4

2

-2

-4

-6

-8

-10

C)

x-10 -8 -6 -4 -2 2 4 6 8 10

y

10

8

6

4

2

-2

-4

-6

-8

-10

x-10 -8 -6 -4 -2 2 4 6 8 10

y

10

8

6

4

2

-2

-4

-6

-8

-10

D)

x-10 -8 -6 -4 -2 2 4 6 8 10

y

10

8

6

4

2

-2

-4

-6

-8

-10

x-10 -8 -6 -4 -2 2 4 6 8 10

y

10

8

6

4

2

-2

-4

-6

-8

-10

Let v be the vector from initial point P1 to terminal point P2. Write v in terms of i and j.

31) P1 = (5, 1); P2 = (-3, -5)

A) v = -6i - 8j B) v = -8i - 6j C) v = 8i + 6j D) v = 6i + 8j

Find the specified vector or scalar.

32) u = -12i - 2j, v = 6i + 7j; Find u - v.

A) -6i + 5j B) -18i - 9j C) -20i + 5j D) -19i + 5j

33) u = -4i + 1j and v = 4i + 1j; Find  u + v .

A) 5 B) 34 C) 2 D) 8

5



Find the unit vector that has the same direction as the vector v.

34) v = 3i + j

A) u = 
3

11
i + 

1

11
j B) u = 

10

3
i +  10j C) u = 3 10i +  10j D) u = 

3

10
i + 

1

10
j

Perform the indicated operation.

35) u = 3i + j, v = -10i - 9j, w = i - 7j;  Find v - (u - w).

A) -6i - 15j B) -12i + 17j C) -12i - 17j D) -14i - 3j

Use the given vectors to find the specified scalar.

36) u = -13i - 6j and v = -13i + 7j;  Find u · v.

A) 127 B) 169 C) 211 D) -42

Find the angle between the given vectors. Round to the nearest tenth of a degree.

37) u = -2i + 5j, v = 4i - 6j

A) 74.1° B) 168.1° C) 84.1° D) 178.1°

Use the dot product to determine whether the vectors are parallel, orthogonal, or neither.

38) v = 2i + j,   w = i - 2j

A) parallel B) orthogonal C) neither

39) v = 3i - j,   w = 6i - 2j

A) orthogonal B) parallel C) neither

Solve the problem.

40) Let vector u have initial point P1 = (0, 2) and terminal point P2 = (4, 0). Let vector v have initial point

Q1 = (3, 0) and terminal point Q2 = (7, -2). u and v have the same direction. Find  u  and  v . Is u = v?

A) u  =  6,  v  =  6;  yes B) u = 6,  v = 6;  no

C) u  = 2 5,  v  = 2 5;  yes D) u  = 2 5,  v  = 2 5;  no

Write the vector v in terms of i and j whose magnitude  v and direction angle θ are given.

41) v  = 7,  θ = 225°

A) v = - 
7 2

2
i - 

7 2

2
j B) v = - 

7

2
i - 

7 3

2
j

C) v = - 
7 3

2
i - 

7

2
j D) v = 

7 2

2
i + 

7 2

2
j

Find the exact value by using a sum or difference identity.

42) sin 165°

A)
2( 3 - 1)

4
B) -

2( 3 + 1)

4
C) -

2( 3 - 1)

4
D)

2( 3 + 1)

4

Find the exact value of the expression.

43) sin 25° cos 35° + cos 25° sin 35°

A)
1

2
B)

3

2
C)

3

3
D)

5

12

6



Use the given information to find the exact value of the expression.

44) sin α = 
21

29
, α lies in quadrant II, and cos β = 

15

17
, β lies in quadrant I Find sin (α - β).

A)
468

493
B)

475

493
C)

132

493
D)

155

493

Use a sketch to find the exact value of the expression.

45) cos  tan-1 
2

3

A)
3 13

13
B)

13

3
C)

2

3
D)

3

13

Use a right triangle to write the expression as an algebraic expression. Assume that x is positive and in the domain of the

given inverse trigonometric function.

46) cos(tan-1 x)

A)
x2 + 1

x2 + 1
B) x x2 + 1 C)

x2 - 1

x2 - 1
D)

x x2 + 1

x2 + 1

Solve the equation on the interval [0, 2π).

47) cos2 x + 2 cos x + 1 = 0

A) 2π B) π C)
π

2
, 
3π

2
D)
π

4
, 
7π

4

48) cos 2x = 
2

2

A)
π

8
, 
7π

8
, 
9π

8
, 
15π

8
B)
π

4
, 
3π

4
, 
5π

4
, 
7π

4
C) 0, 

2π

3
, π, 

4π

3
D) no solution

Use a calculator to solve the equation on the interva l [0, 2π). Round to the nearest hundredth of a radian.

49) sin 3x = sin x

A) 1.57, 4.71 B) 0, 0.79, 2.36, 3.14, 3.93, 5.50

C) 0, 1.57, 3.14, 4.71 D) 0.79, 1.57, 2.36, 3.93, 4.71, 5.50

Solve the triangle. Round lengths to the nearest tenth and angle measures to the nearest degree.

50) A = 38°

B = 32°

a = 42.1

A) C = 111°, b = 36.2, c = 64.3 B) C = 110°, b = 64.3, c = 36.2

C) C = 111°, b = 64.3, c = 36.2 D) C = 110°, b = 36.2, c = 64.3

51) a = 5, b = 8, C = 120°

A) c = 17.2, A = 20°, B = 40° B) c = 14.3, A = 24°, B = 36°

C) c = 11.4, A = 22°, B = 38° D) no triangle

52) a = 9, b = 6, c = 4

A) A = 32°, B = 21°, C = 127° B) A = 127°, B = 21°, C = 32°

C) A = 127°, B = 32°, C = 21° D) A = 32°, B = 127°, C = 21°
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Two sides and an angle (SSA) of a triangle are given. Determine whether the given measurements produce one triangle,

two triangles, or no triangle at all. Solve each triangle that results. Round lengths to the nearest tenth and angle

measures to the nearest degree.

53) A = 30°, a = 22, b = 44

A) B = 90°, C = 60°, c = 38.1 B) no triangle

C) B = 60°, C = 90°, c = 38.1 D) B = 60°, C = 60°, c = 38.1

54) B = 88°, b = 2, a = 23

A) no triangle B) A = 44°, C = 48°, c = 25

C) A = 45°, C = 48°, c = 29 D) A = 43°, C = 48°, c = 27

Find the area of the triangle having the given measurements. Round to the nearest square unit.

55) A = 37°, b = 10 inches, c = 9 inches

A) 27 square inches B) 36 square inches C) 38 square inches D) 25 square inches

Use Heronʹs formula to find the area of the triangle. Round to the nearest square unit.

56) a = 10 yards,   b = 11 yards,   c = 15 yards

A) 61 square yards B) 58 square yards C) 55 square yards D) 64 square yards

Solve the problem.

57) A surveyor standing 64 meters from the base of a building measures the angle to the top of the building and

finds it to be 39°. The surveyor then measures the angle to the top of the radio tower on the building and finds

that it is 48°. How tall is the radio tower?

A) 7.28 meters B) 19.25 meters C) 6.91 meters D) 10.14 meters

Graph the ellipse and locate the foci.

58)
x2

64
 + 

y2

4
  = 1

x-10 -5 5 10

y

10

5

-5

-10

x-10 -5 5 10

y

10

5

-5

-10
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A) foci at ( 77, 0) and (- 77, 0)

x-10 -5 5 10

y

10

5

-5

-10

x-10 -5 5 10

y

10

5

-5

-10

B) foci at (0, 2 15) and (0, -2 15)

x-10 -5 5 10

y

10

5

-5

-10

x-10 -5 5 10

y

10

5

-5

-10

C) foci at (2 15, 0) and (-2 15, 0)

x-10 -5 5 10

y

10

5

-5

-10

x-10 -5 5 10

y

10

5

-5

-10

D) foci at (0,  77) and (0, - 77)

x-10 -5 5 10

y

10

5

-5

-10

x-10 -5 5 10

y

10

5

-5

-10

Find the standard form of the equation of the ellipse satisfying the given conditions.

59) Foci: (-5, 0), (5, 0); vertices: (-7, 0), (7, 0)

A)
x2

25
 + 

y2

49
 = 1 B)

x2

25
 + 

y2

24
 = 1 C)

x2

24
 + 

y2

49
 = 1 D)

x2

49
 + 

y2

24
 = 1

60) Major axis horizontal with length 10; length of minor axis = 4; center (0, 0)

A)
x2

10
 + 

y2

4
 = 1 B)

x2

25
 + 

y2

4
 = 1 C)

x2

4
 + 

y2

25
 = 1 D)

x2

100
 + 

y2

16
 = 1

Find the foci of the ellipse whose equation is given.

61)
(x + 2)2

9
 + 

(y - 1)2

36
 = 1

A) foci at (2, 1 - 3 3) and (2, 1 + 3 3) B) foci at (-1, 1 - 3 3) and (-1, 1 + 3 3)

C) foci at (-2, 1 - 3 3) and (-2, 1 + 3 3) D) foci at (1, -2 - 3 3) and (1, -2 + 3 3)

Find the standard form of the equation of the ellipse satisfying the given conditions.

62) Major axis horizontal with length 8; length of minor axis = 6; center (0, 0)

A)
x2

8
 + 

y2

9
 = 1 B)

x2

64
 + 

y2

36
 = 1 C)

x2

9
 + 

y2

16
 = 1 D)

x2

16
 + 

y2

9
 = 1
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Convert the equation to the standard form for an ellipse by completing the square on x and y.

63) 16x2 + 25y2 - 32x - 150y - 159 = 0

A)
(x + 1)2

25
 + 

(y + 3)2

16
 = 1 B)

(x - 3)2

25
 + 

(y - 1)2

16
 = 1

C)
(x - 1)2

16
 + 

(y - 3)2

25
 = 1 D)

(x - 1)2

25
 + 

(y - 3)2

16
 = 1

Find the standard form of the equation of the hyperbola satisfying the given conditions.

64) Foci: (-8, 0), (8, 0);  vertices: (-6, 0), (6, 0)

A)
y2

36
 - 

x2

28
 = 1 B)

x2

36
 - 

y2

64
 = 1 C)

x2

36
 - 

y2

28
 = 1 D)

y2

36
 - 

x2

64
 = 1

65) Endpoints of transverse axis: (0, -10), (0, 10);  asymptote: y = 
5

8
x

A)
y2

100
 - 

x2

64
 = 1 B)

y2

100
 - 

x2

256
 = 1 C)

y2

64
 - 

x2

25
 = 1 D)

y2

256
 - 

x2

100
 = 1

Find the standard form of the equation of the hyperbola.

66)

x-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

y6

5

4

3

2

1

-1

-2

-3

-4

-5

-6

x-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

y6

5

4

3

2

1

-1

-2

-3

-4

-5

-6

A)
y2

4
 - 

x2

16
 = 1 B)

y2

16
 - 

x2

4
 = 1 C)

x2

16
 - 

y2

4
 = 1 D)

x2

4
 - 

y2

16
 = 1

Convert the equation to the standard form for a hyperbola by completing the square on x and y.

67) x2 - y2 + 6x - 4y + 4 = 0

A) (y + 3) 2 - (x + 2) 2 = 1 B) (x + 3) 2 + (y + 2) 2 = 1

C) (x + 3) 2 - (y + 2) 2 = 1 D)
(y + 3) 2

16
 - 

(x + 2) 2

36
 = 1
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Find the location of the center, vertices, and foci for the hyperbola described by the equation.

68)
(x + 4)2

36
 - 

(y - 1)2

25
 = 1

A) Center: (-4, 1); Vertices: (-9, 1) and (3, 1); Foci: (-3 +  61, 2) and (2 +  61, 2)

B) Center: (-4, 1); Vertices: (-10, 1) and (2, 1); Foci: (-4 -  61, 1) and (-4 +  61, 1)

C) Center: (4, -1); Vertices: (-2, -1) and (10, -1); Foci: (4-  61, -1) and (4 +  61, -1)

D) Center: (-4, 1); Vertices: (-10, -1) and (2, -1); Foci: (-4 -  61, -1) and (-4 +  61, -1)

Find the solution set for the system algebraically or by graphing both of the systemʹs equations in the same rectangular

coordinate system and finding points of intersection.

69) 9x2 +   y2 = 9

  y2 - 9x2 = 9

x

y

x

y

A) {(0, 9)} B) {(3, 0), (3, 0)} C) {(0, -3)} D) {(0, -3), (0, 3)}

70) (y - 6)2 = x + 36

   y = - 
1

6
x

x-10 -5 5 10

y

10

5

-5

-10

x-10 -5 5 10

y

10

5

-5

-10

A) {(36, -6), (0, 0)} B) {(-36, 6), (0, 0)} C) {(-36, 0), (6, 0)} D) {(-36, 6)}

Find the standard form of the equation of the parabola using the information given.

71) Focus: (0, -4);  Directrix: y = 4

A) y2 = -4x B) x2 = -16y C) x2 = 16y D) y2 = -16x

11



Convert the equation to the standard form for a parabola by completing the square on x or y as appropriate.

72) y2 + 2y - 2x - 3 = 0

A) (y + 1)2 = 2(x - 2) B) (y - 1)2 = 2(x + 2) C) (y - 1)2 = -2(x + 2) D) (y + 1)2 = 2(x + 2)

Find the vertex, focus, and directrix of the parabola with the given equation.

73) (y + 1)2 = 20(x - 4)

A) vertex:  (-1, 4)

focus:  (4, 4)

directrix:  x = -6

B) vertex:  (4, -1)

focus:  (-1, -1)

directrix:  x = 9

C) vertex:  (4, -1)

focus:  (9, -1)

directrix:  x = -1

D) vertex:  (-4, 1)

focus:  (1, 1)

directrix:  x = -9

Identify the equation without completing the square.

74) 4x2 - 4x + y + 3 = 0

A) parabola B) hyperbola C) circle D) ellipse

75) 3x2 - 4y2 + 2x + 2y + 1 = 0

A) circle B) ellipse C) parabola D) hyperbola

Write the standard form of the equation of the circle with the given center and radius.

76) (0, -7); 9

A) x2 + (y - 7)2 = 9 B) x2 + (y + 7)2 = 81 C) (x - 7)2 + y2 = 81 D) (x + 7)2 + y2 = 81

Complete the square and write the equation in standard form. Then give the center and radius of the circle.

77) x2 - 2x + 1 + y2 - 6y + 9 = 25

A) (x - 3)2 + (y - 1)2 = 25

(-3, -1), r = 25

B) (x - 1)2 + (y - 3)2 = 25

(1, 3), r = 5

C) (x - 3)2 + (y - 1)2 = 25

(3, 1), r = 5

D) (x - 1)2 + (y - 3)2 = 25

(-1, -3), r = 25

INTRO TO CALC BC STUDENTS:  Identify the conic section that the polar equation represents. Describe the location of a

directrix from the focus located at the pole.

78) r = 
2

1 - 2 cos θ

A) ellipse;  The directrix is 1 unit(s) to the right of the pole at x = 1.

B) hyperbola;  The directrix is 1 unit(s) to the left of the pole at x = -1.

C) ellipse;  The directrix is 1 unit(s) to the left of the pole at x = -1.

D) hyperbola;  The directrix is 1 unit(s) to the right of the pole at x = 1.

79) r = 
4

2 + 2 sin θ

A) hyperbola;  The directrix is 2 unit(s) above the pole at y = 2.

B) parabola;  The directrix is 2 unit(s) to the right of the pole at x = 2.

C) hyperbola;  The directrix is 2 unit(s) to the right of the pole at x = 2.

D) parabola;  The directrix is 2 unit(s) above the pole at y = 2.

80) Find the vector  u x v (cross product) when  u = (2, 0, 3) and v = (-1, 7, -5) .

A) (-21, 7, 14) B) (21, -7, -14) C) (-21, -7, 14) D) (21, 7, -14)
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Answer Key
Testname: BC1 PCH FINAL EXAM REVIEW 2014

1) C

2) D

3) A

4) D

5) C

6) B

7) C

8) C

9) A

10) B

11) A

12) C

13) A

14) C

15) D

16) A

17) B

18) A

19) B

20) D

21) A

22) C

23) D

24) C

25) A

26) C

27) B

28) B

29) D

30) D

31) B

32) B

33) C

34) D

35) C

36) A

37) B

38) B

39) B

40) C

41) A

42) A

43) B

44) B

45) A

46) A

47) B

48) A

49) B

50) D

51) C

52) C

53) A

54) A

55) A

56) C

57) B

58) C

59) D

60) B

61) C

62) D

63) D

64) C

65) B

66) D

67) C

68) B

69) D

70) B

71) B

72) D

73) C

74) A

75) D

76) B

77) B

78) B

79) D

80) A
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